PART 1 Number Facts

Fill in the correct answer as
quickly as possible.

a) 9+3=__
b) 4 x2=___
<) 42 + 6 =
d);.; 12+ 2 =____
e) 5x4=___
56 + 7 =___
8xB=___
9+9=__
2% T =~
24 + 6= ____
6:5¢9="
iscd =t
12 + 8 =___
54 + 9 =___
BXF =

PART 2 Computation
Testing Tip: Answer all
the test items you know first.
Go back and answer the other
items later.

Choose the correct answer for
each problem. If the correct
answer is NOT GIVEN,
choose ®.
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2 x%=01
3¢+t=01
65=<%3=01
1% +15=01
8x%=[1
55+ 7=0[1
15) 15,045
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11. 6,020 + 59 =

@@@@l"] 900060 00000
5
o
N

®
4
Q

Solve for x. If the correct answer
is NOT GIVEN, choose ®.
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13. 5 = 35 ® 8
3 6
x =1 = 4
® 18
® NG
14. =% ® 45
e ® 20
x =1 &
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15. ¥-4 ® 12
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